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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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State and Explain the Principles of Surveying.

Distinguish Plane Surveying and Geodetic Surveying

Define Representative Fraction. If R.F.=1/300 draw a plain scale to show
36mon it.

Enlist instruments used in Chain and Tape survey and State their function.

Briefly explain the closing error in compass traversing, with elimination of
this error graphically.
Draw neat sketch of 20m Standard Chain showing all the components.
OR
Define Ranging. Explain with neat sketch types of Ranging.

Distinguish:

(1) Surveyor compass and Prismatic Compass

(2) W.C.B and Q.B.

Calculate the interior angles of closed traverse ABCDA from the
following observations and apply check:

LINE F.B. B.B.
AB 120° 300°
BC 40° 220°
CD 330° 150°
DA 220° 40°
OR

Draw neat sketch of Prismatic Compass and Label all components.
Calculate as stated:

(1) Calculate True bearing of a line if Magnetic bearing =37° and
declination =4° 15* W.

(2) Calculate Back bearing of line BA if fore bearing of line AB=220°
(3) If W.C.B. of a line=135° calculate its Q.B.

(4) I1f F.B. of AB and AC are 330° and 55° respectively, Find angle
BAC.

Explain Temporary adjustment of Dumpy level
Write Short note:(1) Bench Mark (2) Local Attraction
OR
Distinguish Simpson’s rule and Trapezoidal Rule.
Calculate area enclosed by first and last offset ,boundary and a survey line
by Simpson’s rule for the following observations:

Chainage:(m) O 30 60 90 120
Offsets: (m) O 560 750 840 O
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(b)  State advantages and disadvantages of Plane table Survey. 07
Also state the Methods of Plane table Survey and explain any one.

Q5 (@)  Define Orientation. Explain methods of Orientation 07
(b)  Explain in detail the characteristics of Contour. 07
OR
Q.5 ()  Determine R.L. of points from the following Staff reading on rising 07
ground:

2.560, 2.115,1.750,0.650,3.150, 2.355, 1.850
First point is Bench Mark whose R.L.=50.000m.Draw a page of level book
.enter all readings and apply usual check.
(b)  Write Short note: 07
(1) Curvature and Refraction in Leveling
(2) Testing and adjustment of Chain
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